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Example: ) Q) @ (@ where (3)is the correctresponse.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
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carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
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POPULATION STUDIES
PAPER - 1I

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  Which of the following characteristic is not included in the definition of a modern census ?
(1) Collection of data for each and every individual
(2) Collection of data for each household
(3) Collection of data refers to a well-defined date
(4) Collection of data refers to a well-defined area
2. On which of the following dates, IWorld Health Day is celebrated ?
(1)  Oct. 24 (2) April 25 (3) April7 (4) Nov. 19

3.  Which among the following states is having highest percent of children age 12-23 months
covered by measles vaccine, according to NFHS - 4, 2015-16 fact-sheet ?

(1) Tamil Nadu (2) Kerala (3) Karnataka (4) Maharashtra

4.  Which among the following indicators, is used in Gender Empowerment Measure (GEM) ?
(1) Life Expectancy differentials

(2) Difterentials in the level of education
(3) Women’s relative income
(4) All of the above

5.  Which of the following state is not included in the category of ‘Empowered Action
Group’(EAG) states ?

(1) Uttarakhand (2) Odisha (3) Assam (4) Rajasthan
6.  Which among the following is the approximate total population of Trangenders in India
according to 2011 Census ?
(1) Less than one lakh (2) 2-3lakhs
(3) 4-5Ilakhs (4) 8 lakhs and above
7. Which one of the following statement is correct to use indirect method of standardization to
estimate standardized birth rate ?
(1) Age - specific fertility rates for the reference population are known.
(2) Age - specific fertility rates for the reference population are not known.
(3) Age - specific fertility rates for the standard population are known.
(4) Age - specific fertility rates for the standard population are not known.
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(3) TihSl 1 HURY Teh oy fafer & STgaR fofan ST 211

(4) TSl T TIRY H1 AT Tk Ui &7 § T

fae waree foag 1 frefafaa § 9 frg a1 o= < 8 2
(1) 24 RN (2) 25 379 (3) 7 W« (4) 19 TER

TH.Uh.TE.TE.~ 4, 2015-16 i a2 ¥ & @R frfafad § § FH-91 T 8, Sl gaifus
(ufaera °) 12-23 A€ it S5 & T= bl TEY T ekl AT 747 2
(1) dferrg (2) *H (3) HAleh (4) HERE

frafafaa o 9 g Ghas =1 vam fom gemedier A (St3ud.) o foear S g 2
1) SfeA-yemn faves

) foren & T H fadew

(3) Hfecnsdi =t |uE 1

(4) S gt

“1foRd- 0= ke TR’ (3HITEE TRMH Y9) o Tdl ot 9it H fefafad 5 9 feg 1 =l wfmfad
T oo T 2

(1) SWES (2) sfifeem (3) T&H (4) TSTEAH
1 & SF-91 2011 1 VAT o STTIR 9RA § ' TFasi-ed ' i T Fdl SHEEAT § 2
(1) Tk @ q FA (2) 2-3@

3) 4-5d™ (4) 8 3R zEY sifye

THehiFd S ST T STIHM M B AHSIH0T i 3THe] ISfd & Fam & sk § ffafea § 9
HH-H FHUT & T ?
(1) wehia See it oT-fafire Semar g8 (TS-STafths wiefad! ed) I ¢
2) wehia seE i emg-fafeme e <X [ @ ¥
(3) T SHEE i T-fafere sHaema <€ 3 1
A G &1 21g-fafere Semar & 3@ T €1
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8.  Which of the following indicates Male - Female gap in the literacy rate of India, based on
2011 census ?
(1) 0 -5 percent (2) 5-10 percent (3) 10 -15 percent (4) 15 - 20 percent
9.  Internal migration in India is characterised by some of the following facts :
(a) Greater mobility among male than female
(b) ‘Employment’ is the main reason of migration for male while ‘marriage” is for female
(c) Sex ratio of migrants declines sharply as distance increases
(d) Marriage is the single largest reason of overall migration
Find out the correct combination using code given below :
Code :
1) @ band(© @ @ ©@and@ (3) B (©and(d @ (@), (b)and (d)
10. Which amongst the following does not come under the purview of the Cigarettes and Other
Tobacco Product Act (COTPA), 2003 ?
(1) Additional cess on trade and distribution of cigarette and other tobacco products
(2) Prohibition of advertisement, sale and supply of cigarettes and other tobacco products
(3)  Prohibition of smoking in public places
(4) Prohibition on sale of cigarettes and other tobacco products to a person below the age
of 18 years
11. Assertion (A) : Male participation in reproductive and child health matters is low.
Reason (R) : Males usually believe that antenatal care and safe delivery are solely
“Women’s affairs” in which they have limited role to play.
Code :
(1) Both (A) and (R) are true and (R) may be one of the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3)  (A) is true, but (R) is false.
4) ) is false, but (R) is true.
N \IHII“II\HI\IH\HN A ‘ Faper
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12. Match the terminology given in List - I with the elaboration provided in List - II.
List - I List - II
(a) Environmental determinism (i) A doctrine that stresses the influence of
environment on human behaviour
(b) Environmental possibilism (i) The type and extent of human activity by
season
(c) Environmentalism (iii) A doctrine that stresses control of environment
on human activities
(d) Ergograph (iv) A doctrine that analyses the possibilities
provided by the environment
Code :
@ (® (9 (9
1) (v) @) @ @
2 @O (@v) @@ (i
3 (v @O () ()
4 (@) @) @ @
13. Which among the following is proportion of households headed by females in India, according
to 2011 census ?
(1) 10-15% (2) 15-20% (3) 20-25% (4) 25-30%
14. Arrange the following states, low to high, by their level of crude death rate according to the
SRS Bulletin, December 2016 using code given below :
(a) Kerala
(b) West Bengal
(c) Maharashtra
(d) Goa
Code
1) (@), (), () (d)
2) (), (© () @
(3 (©, (b), (d) @
@) (@) (©) (b) @
s [N 6 Fapec




12. = U T e o1 9= Hed BTG - [H <1 778 Srssraedt | geit - 11 H T 7 3o foreqd oo |

gaferd it
T - 1 T - 11
(a) TRV freerrEng () =@ fogid, S HHg SHaeR I qHa o Je W
(THarHee feefify) FA A
(b) TATRUNE HHTEATAR (i) TEH W TR A Tafafy % YRR SR TR |
(T eA qifafdfesd )
(c) TATERUiEET (iii) = fogid, S 9 Ay W 9=eR &
o0 R o T R
(d) T (ARl e T SR (iv) 9 fagia, S ueieren gr ved Seresti o favers
STICTEH 61 o) FHAAT S|
<< :
(@ () (o (d)
(1) (@v) @) @ ()
2 @ (@) (@) (i)
@) (@v) @ @) (i)
(4) (@) @) @ (@)
13. o9 2011 St SEUAT % 3TER, YRA § Afge e 9ieR! &1 gfavr fr= & SF-a 2
(1) 10 - 15% 2) 15 -20% (3) 20 - 25% (4) 25 -30%
14. 9 QU 7T Fe 1 JAT Hh THARTH. Faifed, fgHaR 2016 & F7aR Fefafead T &1 37601
STRNTYA g T oh W1 oI, 79 | 3= &t IR, Fafed itag ?
(a) A
(c) W
(d)
<< :
1) (@), (b), (), (d)
(2) (), (9) (d), (a)
3)  (0), (b), (d), (a)
4)  (d), (9) (b), (a)
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15. The government of India has recently launched ‘Mission Parivar Vikas” for high fertility
districts with following details :
(a) Total 145 districts will be covered
(b)  Seven high focus states will be covered
(c)  Selected districts contribute to 30% of maternal deaths and 50% of infant deaths
Which one of the following code is correct ?
(1) Only (a) and (c) (2) Only (a)
(3)  Only (b) and (c) (4) All (a), (b) and (c)
16. Match the following propositions in List - I with the proponent of migration models in
List - IT using code given below :
List - I List - II
(a) Migration occurs in stages (i) E.S. Lee
(b) Diversity in the nature of places (i) M. Todaro
promotes volume of migration
(c)  Volume of migration between two (iii) Revenstein
places is directly proportional to their
population sizes and inversely
proportional to distance separating them
(d) Migration is more of a response to expected (iv) K. Zipf
benefits than actual ones
Code :
@ (® (9 (9
O G 6 G @
@ O G @) (@
@) @ O G @)
@ O @ @ W)
17. Which of the following combination rightly describes major states of India in descending
(higher to lower ) order of levels of urbanisation ? Answer using code given below :
(a) Gujarat
(b) Punjab
(c) Kerala
(d) Tamil Nadu
Code :
1) (©, @, b), @ @) (@), © (@), O)
3) (@), @) (9 (b) 4 (), (®) () @
s [N ; Fapec
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gt - 1 et - 11

(a) WIET =N H BT | () TuE. ot

(b) FFl =t Y § fafaud yeam & uftwmm (i) TH Ieq
T ST |
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SHE % 3R] 1 G €9 § THEAN IR

A=H

3T o= g T faemTard 8 §

(d) Yo A&t Tl St gor | STRmfad (iv) . f5®
e § s1ferem g T

<
@@ (b) (9 (d)

1) @) G Gv) (@)

2 @ @) @v) (i)

@) @) @ @) (i)

4) @O @) @) (@Gv)

freafafad § 9 e GAeF IR & THE U1 o el & TR o TRl A (I 9 7 &1
#R) o AU A 2 A A Fe A ST Hlh Wl S A ¢

(a) TSI

(b) HmE

(c) <hd

(d) dfFeTg

<<

1) (), (d), (b), (a) 2  (d) (o) (a),

(3) a), (c)

, (c), (b)
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Paper-II



18. Assertion (A) :
Between 1650 and 1920, the share of population in developed world increased from 20 percent
to 34 percent.
Reason (R) :
Significant change in demographic behaviour occurred as a response to overall social and
economic development.
Code :
(1) Both (A) and (R) are true and (R) is correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
19. Which one of the following states has highest Population Growth Rate during 2001 - 2011
Census ?
(1) Rajasthan (2) West Bengal (3) Uttar Pradesh (4) Bihar
20. What percent of the world’s population lives in Asia in 2016 ? Select right answer from
below :
(1) Around 20% (2) Around 30% (3) Around 50% (4) Around 60%
21. World Fertility Survey was initiated in which of the following year ?
(1) 1962 (2) 1972 3) 1974 4) 1979
22. In Bongaart’s Proximate Determinants model, which combinations is considered as
determinants of natural fertility ?
(1) Lactational infecundability, Sterility and Induced abortion
(2) Sterility, Induced abortion and Coital frequency
(3) Induced abortion, Coital frequency and Lactational infecundability
(4) Sterility, Coital frequency and Lactational infecundability
23. The small town of India has a population of 50,000. If growth rate of population is 2.5%,
then how long will it take for the population of this small town to double ?
(1) 25 years (2) 28 years (3) 31 years (4) 35 years
s [N 1 Fapec
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20.
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22.

23.

AFR&HA (A)

1650 3TR 1920 % &= fasfaa fava & Sg@n &1 fewa 20 gfawa @ agak 34 Hfawe & T
e (R) :

SIS SHaER H He@qul IRad THY |HTSh SR 3T foaerd i T Tfhan (Wurd) &
YH AT

e :

(1) A)QH(R ) S EE € SR (R), (A) T & AR

2) (A) TS (R) S T €, AfFA (R), (A) T Tl =0 T T

3) (A)ﬂz“r%éﬁm(nw%ﬂ

4) (A) T T, WAfRA (R) Tl T

2001 - 2011 =t ST & SR, Frefafed § 9 g T~ #t Shen 3fg ) g @ €2
1) TSTEIH (2) uf¥=m S 3) WU 4) foRR

2016 ® Tfern # fava ot fha wfaera So@En wdt §2 9 8 9 39ge ST 1 =9
(1) oW 20 9faerd  (2) W97 30 Gfed  (3) W 50 Wiaed  (4) I 60 Fiderd

fova ST wder, fF=fafad § & foeg ad o SRy fowan man on ?
(1) 1962 (2) 1972 (3) 1974 (4) 1979

e % FHYEd YR a@ dted (AMeH e featfiHed Aiga) § Wipfas go=d &
frafs aeil o w9 § f=fafed ¥ 9 g Hae & A6 S g ?

(1) T Sea, deaar oik Ifka mefura

(2) e, ARG i $iR ReA St SRwat

(3) URA UG, HeYA i aRFRal 3iR e Sean
(4)

4)  SeFar, HYA St IR IR gref S

YRA & Teh Y H& i SHAEEA 50,000 T1 S SH@ & gfg X 2.5 Ufwd § df 39 H &l
STGE T M H o 9 o 2

1) 2594 (2) 28 7= (3) 31 (4) 35
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24. Which of the following combination rightly describes the unique findings of 2011
census ? Answer using code given below :
(a) Number of new census towns added
(b) Net gain in urban population was larger than that in rural population
(c)  Absolute number of illiterate population declined
(d) Improvement in over all sex ratio
Code :
(1) (b), (c) and (d) are correct (2) (a), (b) and (c) are correct
(3) (c) and (d) are correct (4) (b) and (d) are correct
25.  Which one of the following indicates the ‘life expectancy at Birth” for females in the India
during 2011-15 ?
(1) 65 years (2) 68 years (3) 70 years (4) 72 years
26. Assertion (A) :
Rate of growth in urban population that was on a declining trend since 1981 witnessed a
reversal during 2001 to 2011.
Reason (R) :
Rural to urban migration has recorded a significant increase during the decade.
In the context of the two statements, which one of the following is correct ?
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, and (R) is false.
(4) (A) is false, but (R) is true.
27. Which of the following states has the largest number of “million - plus’ cities/urban
Agglomerations (UAs) ?
(1) Tamil Nadu (2) Kerala (3) Maharashtra  (4) Gujarat
28. In the light of Human Development Report 2016 which of the following is not correct ?
(1) India’s rank in terms of HDI has deteriorated
(2) India ranks among ‘Low human development category’.
(3) The HDI value of India is 0.624
(4) India fares better than Pakistan and Bangladesh
s [N 2 Fapec
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27.

28.

frefefed § 9 F-91 HasH 2011 Y SFITOMET % 313 Frshfl st i s 8 2 ) feu 7e e
TN Yd U ST S

(a) ‘= IwY R H gfg

b) T SHEEA F g H Rl SHHen § faa () g

)

(

(c) Hqul FeR SEEn | firee

(d) wEU fATIIE § gUr

< :

(1) (b), (o) ¥R (d) W& €1 2 (a), (b) W () & €1

3) (o) R (d) T 1 4)  (b) 3R (d) T 1

IR H 2011-15 % SR Afeansti ot 'S W siaq yeren’ f=fafed § @ fear o ?
(1) 65 aH (2) 68 TH (3) 70 = 4) 72798
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e (R) :

TH T o SRE el 9 W i 3R YawT ¥ Hewqul gig < *i |

ST < FHUAl & Ged B frfafad § 4 oF wd €2

(1) (A) W& (R) I @&t € 3R (R), (A) S HE =&AT T

2) (A) T (R) S T €, AfFA (R), (A) T Tl =0 T T

3) (A) W%, SR (R) e

(4) A)ﬂm%ﬁ% ) | B

frfafea o 9 f6e T ° ‘<8 @ § ot sifyes smoen g’ (fafaam-<w) 36/ 36 § 9 T
(A.T.) o8 ST © 2

(1) afHerg (2) & (3) HENE (4) TN
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29. Match the items in List - I with their corresponding descriptions in List - II using code given
below :
List - I List - II
(a) Montreal Protocol (i)  Declaration on environment and development
(b) Rio - Summit (i) International treaty designed to protect the
ozone layer
(c) Kyoto Protocol (i) International binding on emission reduction
targets
(d) Paris Deal (iv) United Nations framework convention on
climate change
Code :
@ ®) © (@
O @ 0 @) )
@ @ @ @) 0
@) G @) O @
@ W O @ G
30. As per NFHS-IV, around what percentage of eligible couples in India use modern
contraceptive methods ?
(1) 65% (2) 55% (3) 48% 4) 60%
31. Which of the following combinations is correct in terms of percent population in urban areas
in descending order (higher to lower) ? Answer using code given below :
(a) Europe
(b) North America
(c) Latin America and the Caribbean
(d) Asia
Code :
1) ©) @ © @
2 (@), () (b) (d)
(3) (), (©), (@) (d)
@) (©), (b), (@) (d)
32. In which of the following city, new All India Institute of Medical Sciences (AIIMS) is not
established under the Prime Minister Swasthya Suraksha Yojana ?
(1) Rishikesh (2) Jodhpur (3) Bhubaneshwar (4) Shimla
33. Which of the following conveys the Neutralist Theory of Population and Development ?
(1) Advantages of population growth
(2) Disadvantages of population growth
(8)  Zero population growth and its advantages
(4) Unimportance of population growth
s [N 1 Fapec




29.

30.

31.

32.

33.

= U 7T 2 1 gE Rt - 14 < HE o R - 1 H ST T S fereror § gHferd hifse
et - 1 et - 11

(a) WIFZaE Yerhid () TETEREr SR fasm W s
(b) Rl ferer g9ed (i) SIS O T &7 < 39 9 ST |y
(c) TR UIerehid (iii) IS | Hd & IR H TR anearan
(d) R Tl (iv) Soramyg IRedd R Hga T TET o’
<
@@ (b) (9 (d)
1 @) (@ @) (i)
2) @) @) @v) (@)
3) @) (@v) (@) (i)
4 (@(v) (@) @) (i)

TR TATH.-IV & IR =fafea § 9 foead gfaea 9e-gmfa v # enyfae TdfRiygs
gl 1 STHNT L ?

(1) 65 gfawrd (2) 55 gfawd (3) 48 Hfawd (4) 60 gfaerd

= fqu U &= o TRl &5l H§ SEEA o 9faed o ST{ER ARl i (3Tam § = &t 31R) H,
frefafed § 9 sF-91 9491 §8 ® 2 = ST 70 e 1 T10 e SW S

b) ST SRR

(
(c) cnfaet sTafER 3iR e
(

Freafafad § 9 ford oo # gam w3t wmee TRa ArsH1 & 3T=id 99 ARae RAT STgfae weem
(TR Y TATIHAT T ht TE ® 2
(1) =wfrhw (2) HR (3) TR (4) Tormen

S IR fasa & ‘ qexedmErl fagia’ = fefated § 9 i TEfig s g ?
(1) SEE gig & |

2) <HEET g F @

(3) SHe § ¥4 gfg 3R 39 a1 |

SEEAT gig i HEcTa [ |
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34. Which of the following is largest form of soil degradation in India is ?
(1) Erosion by running water (2) Acidification
(3) Wind erosion (4) Salinity
35. Match some theories given in List - I with their proponents given in List - II using code given
below :
List - I List - II
(a) Intergenerational wealth flow theory (i) Kingsely Davis
(b)  The Threshold Hypothesis (i) Easterline
(c) The theory of change and response (iii) Caldwell
(d) Economic framework on fertility (iv) United Nation
Code :
@ ®) © (@
W (@ @ 0 G
@ 6 @ G G
@) () @) O )
@) ) @ 0
36. Major part of the Indian sub-continent comes under which among the following hazard ?
(1) Flood (2) Draught (38) Cyclone (4) Snow fall
37. Arrange following states, high to low, by their level of infant mortality rate according to SRS
Bulletin December 2016 using code given below :
(a) Madhya Pradesh
(b) Odisha
(c) Uttarakhand
(d) Rajasthan
Code :
1) © @, ®) @
@ (@ ®) @ ©
3) )@, (@ @
@) (© @, @), O
38. As per the SRS Bulletin December 2016, which among the following states is having the
lowest infant mortality rate ?
(1) Himachal Pradesh (2) Telangana
(8) Chattisgarh (4) Jharkhand
s [T 1 Faper
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35.

36.

37.

38.

IRa § gt & e o1 fefafad § 9 wHE-1 foseras ®9 8 2
(1) =& I § & (2) eTfE
(3) I &R (4) AU

= U g3 e o ST Lk Tt - [ W 90 0 5 fogidl sl it - 1 H S 7C 376 Jadenl 9

gafera i
T - 1 T - 11
(a) FAR-UIGHE It gerg fagid () T Sfow
(STEHEHA e Tl ZR)
(b) ‘T Ieiee’ TRwAfad (afenea) (i) s
(c) Reda iR stfRan fagia (iii) HedaA
(T AR ATF = TS )
(d) SIS % IR H il ' (iv) HIH T G
<< :
@ (b) (9 (d)
1) @) @Gv) @ (i)
2 @ @) (@v) (i)
) @) @) @) (@)
4) (v) (@) (@) ()

IR STTRIGHT 1 Ueh w1 9 fefafeaa # & forg smuer & sfarfa o €2
(1) de () @ (3) shAd (4) AR

= feu g3 e 1 W Ok TE.SR T, gaifed, feHe 2016 % STER Frefefaa i g
T R &1 3 W 79 3t IR =afed Hifve :

(a) T W

(b) 3iifesm

TH.3R.TY. gaifed, feder 2016 % AR fFrefafe # 9 forg v & freag foag g 2
(1) o= gew (2) T
(3) BHETG (4) wRES
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39. Compared to men, women have lower HDI value across the world. Which of the following
has the largest gap in HDI of men and women in the world ?
(1) South Asia (2) Africa (3) Latin America (4) Oceania
40. Assertion (A) :
Women belonging to low socio - economic status are more likely to experience violence as
compared to those belonging to high socio-economic status.
Reason (R) :
Women belonging to low socio-economic status are married to less educated husband.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the only explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
41. According to 2011 census, proportion of 0 - 6 population is lowest in which of the following
states ?
(1) Gujarat (2) Tamil Nadu
(3) Andhra Pradesh (4) Punjab
42. Millenium Development Goals (MDGs) were replaced by sustainable Development Goals
(SDGs) in 2016 including some of the new areas of concerns given below :
(a) Climate change
(b) Economic inequality
(c) Sustainable consumption
(d) Eradicating extreme poverty
Find out the correct combination using code given below :
Code :
(1) (a), (b) and (©)
(2) (@), (b)and (d)
(3) (@) (9 and (d)
4) (b), (c) and (d)
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39. fova & qedl st gorn § wfeensii o1 ' wa faswma gawis’ w0 g1 fava § qel oik Afgensti & wma
Tl ererien 1 walf sie Freifatad 3 3 we 27
(1)  <feror ofern (2)  SThIhH (3) < sTERem  (4) SAfafTE
40. USRI (A) :
3= g3 ¥fgaa 9 geifua afeensti ot gor o f=1 arfsren-enfeier Sfaaa @ defia
Hfear féa =t 1R 89 &t s1fyes e 2t 2|
& (R) :
e ArfTeR - anfefer fearfa ot aRari i afgensil w1 faare e 9] w %1 fafea ufq & @ a1
<
(1) (A) W& (R) I @&t € 3R (R), (A) S HE =& T
2) (A) TS (R) < T €, ARFA (R), (A) F Fod Tl A T S
(3) (A)wfr% Afeh (R) TTera B
(4) (A) 7T B, AfRA (R) T8
41. 2011 %! SEE & AER, F=fafad 5 9 f7g T3 § 0 - 6 96 i 39 i SHEEA 61 A4 Fean
€2
(1) TSR (2) dfFeTg (3) e Ww (4) =
42, wEEl T @l (TH.ELSM.) &l 2016 H feahres foem @isdl (Ta. 21, ) 9 gfaeentya fopen o
o1, 5 frefafad aleril & 7T i o1 wftaford fan 7 or) 97 e o1 91 e SR A |
(a) Soreryg qRedH
(b) TR STEHa
(c) feors 3avm
(d) Sfd-TRIsiT w1 SR
T2 HAIS sy |
<<
(1) (@), (b) ¥ ()
(2 (a), (b) ¥ (d)
(3) (a), (0) #R (d)
(b), () R (d)
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43. Match Mortality measures given in List - I with their definitions in List - IT using code given
below :
List - I List - II
(a) Neo-natal mortality (i)  The mortality of live-born after first week but before
28 days of life
(b) Early Neo-natal mortality (i) The Mortality of life-born after one month but before
reaching the age of one year
(c) Late Neo-natal mortality  (iii) The mortality of live-born before completing four
weeks or 28 days
(d) Post-neo-natal mortality ~ (iv) The mortality of live-born during the first week of
life
Code :
@ ®) © (@
O 6 @ G @)
@ @) @) @) 0
@) G @) O @
@) ) @) @ 0
44. According to data published in SRS Bulletin December 2016, Which state of India has the
highest natural growth rate of population ?
(1) Bihar (2) Madhya Pradesh
(3) Rajasthan (4) Uttar Pradesh
45. Which one of the following is correct percentage of India’s population aged 0 - 4 years
according to the 2011 census ?
(1) Approx. 8 percent (2) Approx. 9 percent
(3) Approx. 10 percent (4) Approx. 11 percent
46. Which of the following sources or combination of sources are used to measure Total Fertility
Rate (TFR) in India ?
(1) Sample Registration System
(2) Demographic Surveys
(3) Census and Sample Registration System
(4) Demographic Surveys and Sample Registration System
47. As per the NFHS - III and NFHS - IV data, which of the following state has recorded steepest
decline in T.F.R. ?
(1) Andhra Pradesh (2) Bihar
(3) Rajasthan (4) Uttar Pradesh
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43. 11 %2 1 YA Ik Gell - 16 ST 0 gogan Aot 1 gel - 11 H S9iE T Skt uRemeeT |
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47.

FHfe T
gt - 1 et - 11
(a) o fRrg) Y gogar (i)  Sfiferd S A TR Teh W@ 918, iR St o 28 ol
| 7 7Y
(b) aSa Rorg ot URY H gA@ (i)  Sfifed S @ % Tk A o 916, Wifehd Teh oY ohl 311
R 9T ¥ H 7Y

() -aoma gy ot WA JIA (i) SHad SIH o TR IR TE A1 28 e WA § & gy
(d) Taoma fog ot o § ggar (iv)  SHad S o W S % U8 99iE % SR §o

@@ () () (d)
1) @ @ @) @)
(2) (@) (@) @) @
3 (@) @v) @ @
4)  @v) (@) @) @

TH.3R.TH. Faifed, faHeR 2016 H TR STihel o STIIR, 9RA o {hd Tod H SEEAT T Haiis
‘ grpfad gis WR?

1) fw=R 2) T T

(3) TSN (4) SW U

2011 St XA St STUET F TR 0 - 4 T8 & 3T TIE DI G T T FA9A € :
(1) < 8 gfaerd (2) T 9 Hfderd
(3) T 10 Hfasrd (4) 9T 11 gfaerd

IRA § Fel Foi < (AL UH.2IR.) & A9q B fr=Afafed § @ oFd ©ia 21 Sl 1 9= 8 8 2
(1) T SRt Fomred!

(2) SFHIfETHT e
(3)  STRIUAT TR FHAT YSiIeheoT Jomedt
(4) G FolaTor SR FHAT GSentor Joelt

.U, 09, T4, - 111 3R TH. U6, TE.TE. - IV & TSl o STIER, frefafad # 9 form T9 # 21U, R.
T el a1 fRree <=t &t 2

(1) o7y gew 2) far
(3) TSEUN (4) SR U
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48.

49.

50.

Using codes given below rank the following states according to their population density in
2011 census, high to low :

(a) Bihar

(b) West Bengal
(c) Kerala

(d) Uttar Pradesh
Code :

1) @), (©), () (a)
2) (@), (b), (c), (d)
®3) (k) @), () (d)
@) (d), () (@), (b)

Arrange the following states, from highest to lowest, based on proportion of women who are
overweight/obese according to NFHS - 4.

(a) Haryana

(b) Goa

() Gujarat

(d) Tamil Nadu

Code :

M) (d), (o), (a), (b)
(2)  (b), (9, (d), (a)
G)  (0) (d), (a), (b)
4) (), (d), (9 (a)

Out of the following Ministries/organizations, which one was responsible for making last
set of available population projections ? Answer using codes given below :

(a) Ministry of Health and Family Welfare
(b) National Population commission
() Planning Commission

(d) International Institute for Population Sciences

Code :
(1) (a) alone (2) (a) and (d)
(3) (a), (b) and (d) (4) None of the above
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48. 9 fSU T %3l 1 TN ek 2011 St SHIVAT bl SHEESAT-5 o AR Fefafead v

49.

50.

At 9 Y i AR HAAEd HY :
(a) &R

(b) U= S

(c) <k

(d) ST U

<

(1) (d), (@), (b), (a)

(2)  (a), (b), (c), (d)

(3)  (b), (a), (c), (d)

(4)  (d), (9) (a), (b)

TIL.UR.TA.TH.-4 & TIER Afganrstl ¥ sfayr (sferee) /dem (ad) & 9| W ema
IAdH ¥ a8 &1 IR a1t T 1 SHAfed i

(a) B

C

= o @ i W e/ SIS SUTs, SHEEI WETUT o 2Af<H 92 99 o fo STRert € 2 =
T %2 T YA HId GLIW T
(a) A SR IRAR HeaAT0 HAE

(b) U SHHSA RN

(c) IS ST

(d) “HEEN fa9e & fau SR dem

<<

(1) %9 (a) (2) (a) 3 (d)

(3) (a), (b) 3R (d) (4) ST H H FE ot T8
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